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3XML�VHUWD�V\XNXU�NHKDGLUDW�$OODK�6:7�DWDV�EHUNDK��UDKPDW�GDQ�NDUXQLD�1\D�

VD\D� WHODK�PHQ\HOHVDLNDQ� 7XJDV�$NKLU� LQL� GHQJDQ� ODQFDU�� 6KRODZDW VHUWD� VDODP�

VHPRJD� VHQDQWLDVD� WHUFXUDK� OLPSDKNDQ� NHSDGD� PDQXVLD� SDOLQJ� PXOLD�� \DQJ�

PHQXQWXQ� NLWD� GDUL� ]DPDQ� NHJHODSDQ KLQJJD� VDPSDL� ]DPDQ� VDDW� LQL�� 1DEL�

0XKDPPDG�6$:�MXJD�NHSDGD�NHOXDUJD��VDKDEDW�KLQJJD�SHQJLNXWQ\D�VDPSDL�DNKLU�

]DPDQ�NHODN�

%XNX�LQL�GLVXVXQ�XQWXN�PHPHQXKL�VDODK�VDWX�V\DUDW�XQWXN�PHPSHUROHK�JHODU�

6DUMDQD�7HNQLN�GL�3URJUDP�6WXGL�6��7HNQLN�(OHNWUR�8QLYHUVLWDV�7HONRP��%XNX�LQL�

PHUXSDNDQ� VHEXDK� NRPSLODVL� VXDWX� UDQJNDLDQ� SURVHV� PXODL� GDUL� SHUDQFDQJDQ�

VLVWHP��LPSOHPHQWDVL��SHQJDPELODQ�GDWD�KLQJJD�DQDOLVLV�

3HQXOLV� EHUKDUDS� GHQJDQ� GLVXVXQQ\D� EXNX� LQL� GDSDW� PHQMDGL� VDUDQD�

PHPSHUROHK�SDKDOD�MXJD�GDSDW�EHUPDQIDDW�EDJL�SHPEDFD��WHUXWDPD�EDJL�NDODQJDQ�

DNDGHPLVL� EDLN� GDUL� GDODP�PDXSXQ� OXDU�8QLYHUVLWDV�7HONRP��3HQXOLV�PHQ\DGDUL�

EDKZDVDQQ\D�EXNX�LQL�PDVLK�MDXK�GDUL�NDWD�VHPSXUQD��ROHK�NDUHQD�LWX�NRPHQWDU��

NULWLN� PDXSXQ� VDUDQ� VDQJDW� PHPEDQWX� EDJL� SHQXOLV� XQWXN�PHQMDGLNDQ� EXNX� LQL�

VHWLGDNQ\D�PHQGHNDWL�NDWD�VHPSXUQD�
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